O CANNON. MAG S HS /E

1902051

NOTE:
WIRING DIAGRAM
DRAWING #3338102

Form No. 3394912 Rev B



In the U.S.A,, replacement parts may be ordered directly from CANNON Parts Dept., 121 Power Drive, Mankato, Minnesota 56001. In Canada, parts may be ordered from any of the Canadian Authorized Service Centers shown on the enclosed list. Be
sure to provide the MODEL and SERIAL numbers of your downrigger when ordering parts. Please use the correct part numbers from the parts list. Payment for any parts ordered from the CANNON parts department, may be by cash, personal check,

Discover Card, MasterCard or VISA. To order, call 1-800-227-6433 or FAX 1-800-527-4464.

W N A WN =

N
A wN o ©

15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31

3392500
4427005
9040040
2263102
9280750
0849615
9040340
9010001
9430210
3320011
3333010
0854654
3374010
0274731
3333011
1480071
9340131
3775394
9100070
3396552
1497074
3395612
3395702
2286792
2286793
050176
3394002
1296831
3398205
1221490
1221491

FRAME - LARGE BLACK (LEXAN)
NOSE DECAL MAGNUM

HOOK - 1/4" - 20 ROLLED

NUT - HEX 1/4"-20

SCREW - 1/4" - 20 (RH) x 3/4" PPH

BASE LOCK KNOB

BOLT - 3/8"-16 X 1-1/2" HEX

BEARING - REEL SHAFT NYLINER [2.EA]
WASHER - 1-1/16" OD X 7/8" ID (NYLON)
DEPTH COUNTER - 3 DIGIT (METRIC)
COUNTER GEAR (METRIC)

COUNTER CUSHION/STOPPER [2.EA]
REEL ASSY - HS ELECTRIC (METRIC)

» REEL - MACHINED 3.75"

>GEAR REEL (METRIC)

SHAFT - REEL

SCREW - SET 5/16"-18 x 1-3/4" (REEL)
SPOOL CABLE SS [250.FT]

CABLE LEADER SLEEVE [2.EA]

MOTOR HOUSING - MAG 5 (LEXAN)
LENSE - WINDOW DISPLAY

DECAL - LARGE, MAG 5 HS

DECAL - POSITIVE ION CONTROL
SWITCH - UP/DN CONTROL

WASHER - SHIM .750 x .1 UP/DN SWITCH
CABLE ASSY - MAG 5 (SHORT STOP)
CONTROL BOARD - MAG 5

WIRE - CIRCUIT BREAKER JUMPER (RED)
CIRCUIT BREAKER - 30 AMP

UP/DN SWITCH BOOT

CIRCUIT BREAKER BOOT

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

52
53
54
55
56
57
58
59
60
61
62

1480070
9250002
0467695
3391710
1433074
9010003
9400005
4421002
2372100
9010310
9010280
2998906
0649001
9130390
1479070
9370205
3993200
3393200
3393201
3393202
3393210
3391000
1497070
9250001
700032
9010002
2263112
1421070
3393400
701-007
2332103

SHAFT - DRIVE

PIN - DRIVE SHAFT 3/16" ROLL SS
BRAKE PLATE - REEL

CLUTCH PAD

GEAR - DRIVER WORM

BEARING - DRIVE SHAFT NYLINER
SPRING - SHAFT CONTACT
COVER - GEAR CASE

SCREW - #8 x 5/8" PPHMS [5.EA]
WASHER - THRUST [2.EA]
BEARING - THRUST

KNOB BRAKE
»KNOB - HAND ADJUST

»NUT - KNURLED INSERT 3/8"-24
O-RING - REEL SHAFT

SCREW - 1/4" x 3/4" HEX WASH HD [3.EA]
POWER CABLE ASSEMBLY
>POWER CABLE - BATTERY

>CAP - POWER CABLE - BATTERY
>POWER CABLE - MOTOR

>CAP - POWER CABLE -MOTOR
MOTOR 12V DC

GEAR - WORM MOTOR

PIN - MOTOR, 3/32" X 3/4" ROLL SS
TERMINAL - MOTOR, FEM 12-10 [2.EA]
BEARING - MOTOR SHAFT

NUT - HEX #10-32 BZ

COVER - MOTOR HOUSING (LEXAN)
SCREW - #8-18 x 1-1/4" PPHSMS SS [6.EA]
O-RING - SMALL

SCREW-#6-20 X 3/8"

63

65
66
67
68
69
70
71
72

74
75
76
7
78
79
80
81

83
84
85
86
87
88
89
90
91

3395630
2477001
0290796
2151726
2383106
3319005
3325002
9040310
9430160
2277002
3992300
0267001
0267002
0269726
3397300
9010070
2216403
2200148
1007334
2994892
2263102
2371712
9100100
9100101
9100620
9280730
9370010
9950357
2290828

DECAL - CANNON LARGE [2.EA]
BAG ASSY - SINGLE ROD HOLDER
>TUBE - ROD HOLDER
>WASHER - 5/16" FLAT

>NUT - 5/16"-18 SS

>CLAMP - ROD HOLDER w/ SLOT
>DISK - ROD HOLDER

>BOLT - HEX 5/16"-18 x 2"
>WASHER - STAR 5/16"
>UNIVERSAL LINE RELEASE
SWIVEL HEAD ASSEMBLY

» SIDE PLATE (RH)

» SIDE PLATE (LH)

»PULLY - SWIVEL HEAD

» WASHER - .735 OD X .36 ID

» HDW BEARING BRASS[2.EA]
BOOM END (LEXAN)

SNAP & INSULATOR [2.EA]
MOUNTING BASE (LEXAN)

*BAG ASSEMBLY, MOUNTING (KIT #2)
NUT - HEX 1/4"-20 [4.EA]
WASHER - 9/32" FLAT [4.EA]
TERMINATOR

TERMINATOR CUSHION
TERMINATOR SNAP & SWIVEL
BOLT - TRUSS 1/4" - 20 x 4" [4.EA]
SCREW - #4 x 1/2" PPH [3.EA]
WASHER - LOCK 1/4" SPLIT [4.EA]
24" BOOM - HEAVY DUTY

> PART OF ASSEMBLY

»ITEM CANNOT BE SOLD SEPARATELY

Form No. 3394912 Rev B

* PARTS USED BUT NOT SHOWN



PN 239-8102

REVISIONS

REV. [ECN NO. DESCRIPTION BY DATE APPD BY
|_|:|_‘ A | 15412 | RELEASED JLL |10/18/06 DJ
CIRCUIT
__ BREAKER D
i) POWER CABLE
B | POS (+) LEAD / /
UP/DOWN m— —r Mo |
SWITCH 7/
JUMPER WIRE ﬁ B
T
g
o) ___D D L NOTE: ‘
O ! D D U INSTALL THE UP/DOWN
SWITCH WITH THE PURPLE
| | NEG (o) LoD WIRE IN THE UP POSITION
I AND THE BLUE WIRE IN
POS (+) LEAD THE DOWN POSITION
i
l
I MOTOR
|
\
M S U VW
SPRING
UP/DOWN —
SWITCH
[T AT
CPERLLIQNS
oo e TOHINSON
J@gu.s'_e..-_-. R
. SR B oA FINISH: PART NAME: A
— N G ey mg%m_ o= aw ! Té'o/m/os NONE MAG 10 & 5 WIRING DIAGRAM ol
:’°°‘ 308 | e B o s et | wowaz o FPPVD BY: - WATERIC RELEASED ECNF [PART 0. v
e ceraciad ot te e o™ SCALE: NONE SHEET 1 OF 1 ] UM N

| 1





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




